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Section I — Listening and Responding

25 marks
Attempt Questions 1-9
This section should take approximately 30 minutes

You will hear NINE texts. Each text will be read twice. The question for each text will be
read once before the first reading of the text. There will be a pause after the first reading in
which you may make notes. However, you may make notes at any time. You will be given
adequate time after the second reading to complete your answer. Answer the questions in
ENGLISH in the spaces provided. In the case of multiple-choice questions, tick the box that
corresponds to the correct response. You may proceed to Section II as soon as you have
finished Question 9.

In your answers you will be assessed on how well you demonstrate:

m capacity to understand general and specific aspects of texts by identifying and
analysing information

m capacity to convey the information accurately and appropriately

Marks | Candidate’s
Question 1 (1 mark) Notes

Which statement is correct? 1

(A) The bag contained archaeological finds.
(B) All the owner’s worldly possessions were in the bag.

(C) The bag was found near a religious site.

NN

(D) The owner of the bag was a wealthy man.

Question 2 (1 mark)
What is the customer likely to say next? 1

(A) O£Am €vo VOUUEPO TTLO ULKPO.
(B) Mov apg€csovv moAv. Oo ta tapm!

(C) Aev 10 d0K1LOO0, OV TO, EKOVOAV dWPO.

NN

(D) Ta oydpoco XTeSG Y10 TOV 0OEPHO LOV.




Question 3 (2 marks)

Why has this announcement been made?

Question 4 (2 marks)

What is ‘Tzatziki’s’ dream?

Question 5 (3 marks)

(a) Why is Eleni in such a state?

(b)  What number does the mother have to ring?

Marks

Candidate’s
Notes



Question 6 (3 marks)

(a) Who is being specifically targeted by this advertisement?

(b) How do the two holiday destinations differ?

Question 7 (3 marks)

What evidence is there to suggest that there are strong bonds between
Nikos and the speaker?

Marks

Candidate’s
Notes



Marks | Candidate’s

Question 8 (4 marks) Notes
(a)  Which statement is correct? 1
(A) St Nicodemus is a Greek church in Russia. I:l

(B) St Nicodemus was first built in the Twelfth century. I:l

(C) The rebuilding of St Nicodemus was finished I:l
in 1855.

(D) 1In 1827, St Nicodemus was rebuilt by Tsar Nikolas 1. I:l

(b)  What does the Anogiannakis Museum offer the visitor? 3

Please turn over




Marks | Candidate’s

Question 9 (6 marks) Notes
(a)  What is the father’s initial concern? 1
(b) How are the main issues presented in this conflict? In your 5

answer, refer to the tone and style of language.

You may now proceed to Section II
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2002 HIGHER SCHOOL CERTIFICATE EXAMINATION
Modern Greek Continuers

Section II — Reading and Responding
40 marks
Allow about 1 hour and 20 minutes for this section

Part A - 25 marks
Attempt Questions 10-11

Read both texts, then answer the corresponding questions in ENGLISH in the Section II Part A
Answer Booklet.

In your answers you will be assessed on how well you demonstrate:

m capacity to understand general and/or specific aspects of texts, through, for example,
summarising or evaluating

m capacity to convey the information accurately and appropriately

Question 10 (9 marks)

Please turn over
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Question 10 (9 marks)
Ayomnuévo pov nuepoirdylo

Bpiokopatl kAelopévn ce €vo o(0AeLO UE VO COPO OYVOGTOVG. AVLTN T
OTLYUN oL YPAdo M yeLTovid pov kailyetot! Iéco dArate n Lo pwov and
™ pa otyun oty dAAn! Iote ol e1kdveg avtég de Ba ofnoovv on’ to
ULOAG LOV...

Ot dotieg etyov eEamlwbel e OAn v meproyn. [Tincialav aneiintikd
70 onitt pov! Ot TVPOGPECTEG KL 0L OIGTVVOULKOL LOG ELTOV OTL TPETEL
vo pvyovue ommcdnmote OmO TNV TMEPLOYN. Bpiokduactov oe dueco
Kkivéuvo!

Méco ot pocopla Kol avaTopoyn Ol YOVELG LoV KL €70 aprdéaue 0,11
uropovcae kal fynkope oto dpopo. Tt dpopotikeg oKknvES NTov avteg!
[Tpoyuatiko ydog!

"Axovyo pewpd vo KAoive, yoveig vo ¢ovdalovv To maldld TOVLC.
Aotuvouilkol Kol TUPOoPESTEG €£devav 0ONYLEG GTOVG GOCTLOUEVOUG
ovOporove. IMavikdg movtod! H ¢otid minclale kol Kateotpede To
navto 610 nEpocud mg! Toon kataostpodn oto neptfdirov. Tt kpiua, Ocg
uov!

Tote xatdAofo moéco emikivduvn Mtov M Kotdotaon! Ouundnko
YELTOVLIOGO, oG, TV Kuplo KaAAlonn, kot £tpega 6T0 GmitL TG Yo vo dm
ov Ntov KoAd. Tn Bprxa AvrtdOvun oto dtadpopo! Tnv tpdapnéa €€o anod
10 ontitt Kt €tpe&a va Bpw Bondera. "Evag 0dnyds otaudtnoe Kot eine 0Tt
Ba v myoive 6to vocokoueio. Autd pe Kabnovyoce Alyo oAAd TOTE
KotdAofa Ot elya yxdoet tovg dikovg pov. PoPfnbnka! IMov vo' tov
apaye; MAmog ktvduvevoy ki avtol; Kt o okvAog pov o Drog; Aev nEepa
oV vo, TA® Kot Tt vo kKove! Ta pdtia pov €katyav Kt 0 AaLog Hov elye
OTEYVOGEL OO ToV Kanmvo. Me €mtace kpion dobuatog kot Avrodvunacoa...

‘Otov cuvnABa PBplokopovy o€ €vo, oY0AEL0 OMOV €lYaV CLYKEVIPOOEL
oAo. ta Bvpota g mupkayldc. Exel €vog 0oTuvoulkog Lov €ine 0Tl ot
yovelg pov Mtov KoAd kol Bpickoviov o€ €vo, dAALO KEVTIPO SLEGMOTNC.
Hpéunoo.
Evtuyag...

Av1d Yo Topo.

Zon
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Question 11 (16 marks)
Ayamnt) Zovtaén

Yag ypod® Yo VO 60G EKOPAC® TO BLUd KoL T AVRN LoV Ylo KATL TOV
ouvePN mpwv Alyeg uépec. ‘Onmg yvopilete, v mepacuevn €BSoUdd0!
€ywve oty TOAN pog to Te€topto Xvuveédpro Amodnung Neoiolog.
Exotovtddeg eEAANVOTOVAD TPLTNG KO TETOPTNG YEVLAG CLYKEVTIPMONKOUE
yia va cu{ntoovpe B€pato Tov adopoVV TOVS VEOLS OTMS: TOLdELa,
ovepylo Kal patelonds.

[ToAdol amd pog yivoue koiol ¢ihot. Tlpocemikd elya tnv toyM vo
YVOPLOTO UE HEPLKA Taldld amd t Notia Auepikn kot to Baikdvio.
Yvlnmoope moAD Kol aVIOAALGEQUE OTOWELG KOl TEAMKC, SLOTLOTOCOUE
TG, TOPOA0 Tov LoVUE OE SLOPOPETIKES YWPES, £XOVUE TOAAD KOLVG
EVOLOHEPOVTA KOL KOLVOUG TPOPBANUOTIOUOVG,.

IMpioope movtov, kat tovg €detéo 0ha ta o&lobéato tov Xvdvel. Tnv
nepocuevn Kupraxmn okedtnika vo, Toug Tam 6€ £VoV aydvo, Tod0Ghaipov.
To ynmedo MOV QCHLKTIKG YEUATO KOL T OTUOGHOLPA MTOV GOVEPG
niextplopévn. XiAadeg dpovatikol omadotl dpovalov vrép g OoUddog
Tovc. ATO TV opyN €vioca Teg KATL Koko 0o cuufel. ‘Oco mepvovoe N
®po. TOGO 7o TOAD aypleve o koouoc. Ot dimhavol pog eiyov Non miet
TOAAEG UTTVPES KOL OPYLGAV VO LOG EVOYA0UV. O aydvog OpYLoE LLE ULoN
opo kabvotepnon. Amd v opyxn odvnke otL Bo Mrav dvokorog. O
dtotg €3moe dVO KOKKIVEG KOl OPKETEG KITPLVEG KOAPTEG. XTO.
TEAELTALO, AETTA UMNKE TO TTPWTO YKOA. O Kdouog Eeonkwbnke! "AAlot
navnyvprlov kot dAiot Bractnuovooyv. H kotdotoon yeltpotépeye otov
oTn ocuvéyxelo o dtoutntg akvpwoe 10 Ykoh. Ta yeyovéta mov
okoAlovONncav NTav oneplyponto!

Mmovkdiia, kaBicpoto kat 6,Tt dAA0 pumopovcayv vo, fpovv pepikol to
nétogov oto ynmedo. O aywvag ctoudtnoe ouecns. Eidaue dvo-tpelg
TPOVUOTIOUEVOVG TOLYTES EVEO KOATOLOL GOVOTIKOL OO0l GpYLoaV VO,
XTLUTOVV 0 €vog Tov dALovV. Evtuymdg mov 1 actuvouio Ntov 1on ekel Kot
€RaAe ypnyopa taEn oto mpaypota. Euelc kabopootay dimio oty €£060
KOl GUYOUE OUECHS. AEV UTOPOVGOUE VO TLOTEYOLUE QVTO TOL £Ld0V T
uatio pog!

IMorti té€tolo cvumeproopd; Toon Pla kot moto 10 amotéreosuo; [voue
peliit debvag! Ta moidid avtd Bo yvpicovv oty TOTPLOO TOVG UE
AGYMUES EVIVTAOCELG Ylo. T YoOpo poc. [1ote Bo xotaldfovv pepikol
davortikol 0tL 1 Pla dev elvor TOTE N Avon;

"Evac ayovaxtiouévog 01AabA0g

ALEEOVIpPOG
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Section II (continued)

Part B — 15 marks
Attempt Question 12

Answer the question in a writing booklet. Extra writing booklets are available.

In your answer you will be assessed on how well you demonstrate:

m capacity to understand general and specific aspects of a text by identifying, analysing
and responding to information

m relevance of ideas, information or opinions
m accuracy of vocabulary and sentence structures
m variety of vocabulary and sentence structures

Question 12 (15 marks)

Read the following newspaper article about a suburb in crisis. Write a report to be presented to
your class of 150-200 words in GREEK in which you compare your suburb to the one
mentioned in the article.

Mo tpoopotn entokeyn tov Yrovpyov Actuvouiag g N.N.O ce €va yvootd
TPOGGTELO TOV LVIVEL K1VNOE TO EVOLOOEPOV TOV KOTOLK®OV TNG TEPLOYNG.

To teAdevtoio xpovia T0 TPOAGTELO AVLTO €)Xl OvORTLYXOEL OlKOVOULKA.
Zevodoyela, E0TLOTOPLO, KOTOOTNULATO, KEVIPO VUXTEPIVIG OLOCKEDOONG KOL
"dooTdoovvTadika"”  €xouvv YeEULGEL TNV WEPLOYN OMULOVLPYMOVTOSG L0,
KOoopomoAltikn atudcoorpo. To caPpotokVploka 1daitepo, Ol KAGETEPLES
veuilovv pe véoug, eve otny mopaiica PAETovue avBpmnovsg KAOe nAlkiog vo
KGvouv BOATEG, VO KOAVUTOUV 1) OTA®S VO, S100KESGLOVV UE TNV TOPEN TOVC.

[Taporo mov M TEPLOYN OLTH EYEL TOCO, TOAAD TAEOVEKTNUOTO, TOPOVOLALEL
KOl KGTOL0 OpVNTLKA GTOLYELOL.

O dnuoctoypddog g €dNUEPLdAS UHOC, TOV KOALWYE TNV ENLOKEYTN TOV
YTovpyol, GKOVOE KOl TOAAD TOPOTOVA OO TOVG KOTOLKOVG TNG TEPLOYNC.

O k¥Oprog Meldg, mov (el oty mepLoyn €30 Kol 1KOGL XpOVia, SNAOGE OTL 1
mEPLOYN €XEL XGGEL TNV MPEUio Kol v 0coddAelo mov e€ixe kdmote. To
KUKAOGOPLOKO XGOG, 1 EALELYN TAPKLVYK KOl TO KOVGAEPLO, TOV OVTOKIVITOV
etvatl ovurdoopa. [ToAlol vEor GuvavTloUVTaL €8 UE TO AVTOKIVNTA TOVG KO
KAVOUV 0y®VES (KOVIPES), KATL TOV €lvol 1dtaltepo enLKivouvo Oyt uovo yio
TOVG GALOVG 03MY0VS, GAAG KOl Y10 Tovg TeLoVG.

H myopvmovon €lval omeAmiotikn Kot 0€ otapatd ovte ottyun. O KoOouog
VI®OEL Lo HEYAAN OVOGOAAELD, OYL LOVO TEPTATOVTOS GTO dPOUO OAAD KoL
u€co oto omitt tov. Elvol entong yeyovog 6Tt 1 €yKANUOTIKOTNTA GE QUTHV TNV
neployn €xel avgnbel to teAevTOia XPOVIO IUE OTOTEAEGIO TOAVG KOGUOG VO
OVOYKOGOTEL VO, LETOKOULGEL.

O Yrovpydg dNAwoe OTL €lval EVXEPLOTO TOV T TEPLOYT TPOGHEPEL TPOTOVG
draockédoong ot veodoia. Tavtdypovo Oumg, vrooyEdnke otL o AndOovV
UETPO Y10 VO EMOVEADEL M TAEN KOl 1 OGOAAELOL.

— 12 -



Section III — Writing in Modern Greek

15 marks
Attempt Questions 13-14
Allow about 1 hour for this section

Answer each question in a SEPARATE writing booklet. Extra writing booklets are available.

In your answers you will be assessed on how well you demonstrate:

relevance of the treatment of ideas, information or opinions
accuracy of vocabulary and sentence structures

variety of vocabulary and sentence structures

capacity to structure and sequence responses

Question 13 (6 marks)

Answer ONE of the following questions. Write 100—150 words in GREEK.

(a)

(b)

You need to console your best friend who is having family problems and wants
to leave home. Write a note to your parents explaining the situation and why you
have to see your friend immediately.

OR

Your penfriend is coming to study at your school on an exchange program.
Write a letter to your penfriend describing some aspects of school life in
Australia.

Question 14 (9 marks)

Answer ONE of the following questions. Write 100—150 words in GREEK.

(a)

(b)

Write the script of a talk you are to give to a youth group, encouraging them
to attend the Athens Olympic Games in 2004.

OR

You recently attended your Year 12 formal. Write an article for the school

newspaper evaluating the event.

End of paper

13—
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Familiarisation Text

Mdpxoc: Addvn, mdpe oty Oeccolovikn yio dtokonés, Exm vo mde toca
xPOVIO KOL LoV €XEL AELYEL QUTN 1) TTOAN.

Adovn:  AdUOvatov! Autov tov kalpd mviyouor otn dSovAELd!

Mdpkog: Mo Adovn, eivalr evkolpla topa mov yivetor 1o PeotifdA
Kuwnuotoypddov. Tésa xpovia Aéue vo maue. Na tdue yia nevre-€E1
UEPES, VO EEKOVPAOTELG KL £0.

Adovn:  Elvol aAnbeio mmg dev £x® el ToTE 0t OeG6aLOVIKT, OALG TMOG VOl
dVY® LEe TOoTM S0VAELD;

Mdpkog: Addvrn, dxkov mov cov Aém. Kot ot 800 yperalouoote Alyeg UEPES
Eexovpoon. Xov vmooyoupot Oa mepdoouvue mepionua. H
BOeccolovikn €xel TOAD OPOLEG TAREPVES UE TOPOASOGLOKO GOYNTO,
KOTOTANTIKEG TOPOALES KOl TOAAD 0ELOOE0TO.

Adovn:  KoAd. TIpoto Oumg MPEMEL VO 0pYOVOCHO UEPLKG TPOYUOTO GTO
Ypooeio.

Mdpxoc: Mnv avnovyeic, 6a oe fonbnoo k1 €Y.

Question 1

AvO pkpd KOTEALO daynTov (evOOULa 0md T dVAOKT), Eva EOALVO KOVTAAL KOl £VO,
TLPOVVL, NUEPOADYLO, POAOL, YVOALD, £va (evydpt depudtivo covddALa, €vo {evydpt
EvAva todKapa AoVTpov Kal €va dyoApo ond eledavtodovto... ‘OAn n meploveio
TOV YOPOVGE GE £VO. 6aK1d10. Y'TNPEE TVELUATIKOG NYETNG TNG X WPOG TOL, LoVoE GOV
0OKNTNAG KOL AOTPEVTNKE GaV GYLOG.

Question 2
YrAAANAOG:
[TeAdng:
YAAANAOG:
[TeAdne:
YrAAANAOG:

Optote nopaxolw;

Oo MBera va oAAIE® VT TO TOTOVTOLO.
Yrdpyet xavévo, TpdpAnuo;

Me ctevetovv. Elvol pukpd.

I"a vo doVpE... KOAd, dEV T0, SOKIUACOTE TPLY TO, OYOPOCETE;




Question 3

Kot topa, xupleg Kot KOpLot, (o, EKTOKTN 0VaKOivmon:

‘Ocol omd €00G OKOMEVETE VO MATE OGNV LWOLOPLA GULUVOVLALO TG YVOOTNG
tpayovdiotprag ‘Avvag Bioom, cag mAnpooopovpe 61t ovofdiretor AdY®
kokokaipiag. H Metewporoyikn Yrnpecio €xel avayyeider v Eoovikn oaAlayn
TOL KOLPOV. AVOUEVOVTOL KATOLYLOES, XOAAlL Kol toyvpol dveuol. H cuvaviia €xet
TPOYPOUNOTIOTEL YLa TV enduevn [Topookev.

Question 4

To mpayuatikd tov ovoua eival Toumiag, 0ALd oxedOV KAVEVOS OEV ATOKOAEL 0LTO
TO 0XTAYXPOVO aYOpL €101, 000V OAOL ToV d®WVALOLV UE TO TOPAEEVO TOPOTGOVKAL
tov, TCatlikt. Kot yratt 0iot tov dovalovv TCatlikt; o tov omiovotato Adyo Ot
ovelpevetal navta v EALada. O Tlatlixt el pue toug yovelg tov, tov ‘Olood Kot
mv ABnvd, ot Zoundia. Aev €xet del TOTE TOV TOXTOV TOL, £vayv "EAANvVo Wopd mov
Cer oty KdAvuvo. O TCatlikt Bo €81ve 0, TAVTA Y10 VO ETLGKENTEL TOV TOTTOV TOV,
va Bovtnéet xatl va midoet poll tov xtamodio. Ta Ppddio mpomoveitol, KpoTOVTOG
TNV OVOTVOT TOV 0G0 TLo TOAU pmopel. Méxpt mov Kdmolo HEPO, EKELVOG KOL M
untépa 1ov anodacilovv vo ndve oty EALdda...

Question 5

Moypud, €ho eyo eipot n Erévn! Aev 0a miotéyerc i €ywve! "HpOa onitt ko to Bpiko;
oro. ave-kate! To mopdBvpo omocuévo, To €MMAC TETOUEVO €00 KU €KEL, TO
cLvpTdpLo Adeta kol ot yeltoveg palepevol on’ €o! MoALg €dtace kal n Actuvouio,
Kot dev E€pm TL va toug . To yo youévo! Yayve yia ta xoptid g AGOAAELOS
Kot dev E€pw mov eival. Ta kA€Ld1d TOV CVTOKIVATOL KOL TG XPNUOTO TOV KOV
JONCES TO TPOL YL VO TANPOS® TOVG A0YOPLOCHOVS, Aeimovv! Tniedpovnoo ctov
KUpLo Zu® otmv AGOOAELD KOL POV E€LTE VO TOV TOAPELS OUECHG TNAEGOVO GTO
8197542.



Question 6

Ot peyolotepeg xopég ot Lo eivor SumAéc. ‘Evog dumAdg eAANVIKOG KadES, €val
SmAd o010 TAPAL, SLOKOTES Yo V0 0T EAANVIKA vnold. Popaviiouoc, tepinéteto,
yoldapwon N Eedpdvioua. Ecelg dtoregte twg Oa tepdoete 10 younito to&idt coc.

[Tadvtog T eAANVIKG ynold dtob€touvy to TavTo!

O¢Aete va OmMOAAVGETE TN GVON LLE TO OYOTNUEVO GOG TPOCHOTO;
ELdte omv mavéuopdn Aevkddo. Mmopeite va kdvete atélelntes POATES oTo,
KOTOTPAGLVO, 301 M VO, KOALUTNCETE 6T KoToydlova vepd tov loviov Ieldyouc.

Av mal B€lete yAEvTio Kol koouomoAltikn {om, €Adte ot Pddo. Tnv muépo
UTOPELTE VO YOVIGETE GTA LOVTEPVO, KATOOTAUOTO TG WOANG. Ntubeite pe v
tedevtalo AeEn g nédac. Ta Ppddia, KL Mg TLG TPOLVES WPES TEPAGTE OEEYOOTES
OTLYUEG OTO, VUXTEPLVO, KEVTPO KOl 670 Kalivo.

Question 7
Ayomntol cuyyeveig Kot ¢piiot

Ba NOela Vo 6OGg EVYOPLOTNCO YL TNV TAPOLGLO GO GTO YAUO Tov Nikov Kal g
AvOng. To Bewp®d peydAn Lov TLun Tov pe drareov yio Kovundpo tovg. Me to Niko
yvopi{onacte apketd ypovio. ‘Ocot yvopilete to Niko, EEpete 011 Npbe amd v
EALGSa mpv 15 xpdvio. Tote Ntav Tov YVOPLOTHKAUE KAT® 0nd Teplepyes Oo EAeyo,
ouvvOnkes. Mo uépo o Nikog elye mdet yia undvio oto Mrovtai. Mnv E€povtag 0Tt
ol Bdracoeg g Avotpaiiag €lval €mKiVOUVES KoL TO, KVUOTO GYpLO, TNYE VO,
kolvunnoetl. Xoplg vo 10 KATOAGPEL, TOV €10V TOPACUVPEL TO KVUOTO KOl
Kuvdvveve vo viyel. Eyo tov €180 and pokpid kot £tpega va tov c0cm. AT ekelvn
v NUEPO Yivoue ayxwpiotol dirot. ‘Exovue mepdoel katonAnKTikeég oTiyués pnalt.
I[Myope pall oto moveniotuio Kot puetd taéldgéyaue omv EAAGSa, dnov yvopioo,
mv olkoyévelrd tov. IToté de 6a Eexdow mOGO LOV CLUTOPOCTAONKE OTOV
OpPPMCTNGA KOl NUOVY GTO Vocokouelo yia d0o eBdoudades. O Nikog epydtav Kdbe
UEPO, LoV £KOVE TOPEO, KoL e Bonbovoe ue ) Bepaneio pov. Me 1o 0.oTELD TOV
Eexvovoa Tov TOVo Lov. META T1g GTOVIES LG ATOOAGIGAUE VO, YIVOUUE GUVETOLPOL
Kot avotl&ape €va 1oELdlmTiko ypaodeio. H diilo pag £xel ma 6TEPLOCEL OhOV £YLVO,
TOPO KOl KOLUTAPog tov. ‘Oco yia v Aven, miotevom 01t o Nikog €lval mToAD
TVXEPOG TOL PpNKE Hia T0G0 Bovpdctio KomEAD Yo vo, potpootel ™ Lon tov. Toug
€0YOoLOL VO VOl TAVTO, EVTVYLOUEVOL KOl KOAOVG 0moyOdvoug!



Question 8

Kot topa kxupileg kot kvplot Bpiokopacte oty avatoiikn daxpn g [MAdkog. Ag&la
cog PAEmete T pwolkn eKkkAncio g ABNvag, tov “Ayto Nikddnuo, mov xtiotnke
KOTO TO TPOTO ULGO TOL €VOEKATOL Ol®Veo. YTNpEe pto omd TG ONUOVILKOTEPES
pOolKEG ekkAnoleg €kt0¢ Pooctog. Xiiddeg Pwoor, emionuot oAAd kot omlol
TOMTEG, TNV EMOKEHTNKOV O0vd ToVg olwveg. To 1827 katactpddnke omd TOULG
Tovpkovg. Apyotepa, o Todpog Nikoraog ‘A {ntnoe omd tov KuPepvnmn g
EMGS0g va v EavodtidEel dGTe Vo, TNV YPNOLUOTOLEL I POCLKTN KOWVOTNTO TNG
Abnvag. Ot epyooieg Eexivnooy to 1850 kot tedeiwooy 5 ypdvio apyotepO.

Topoa Bprokopacte oty 080 INeronido dimho otovg A€pndes. B0 GTOUOTNCOUVUE
€d® yla va entokedtovue 10 Movoeio Aaikmv Opydvav. O yvootdg LoVGTKOAIYOG
AvVOYLOVVOKNG GUYKEVIPMVE YlLO. XPOVIO AOTKGE MOVGLKO Opyovo amd OAn tnv
EMGda. Ta povoikd avtd 0pyavo. OVIITPOCMREVOULV U0, UEYOAN TEPLOSO NG
1oToplag TG EAANVIKNG LOVGTIKNC.

[Topaxoieiote O0tOv UmMeEite G610 HOVLGELO, VO Unv kdvete B0pvfo, KOG ot
EMOKENTEG TPOOTOOOVY VO 0KOVOOULV OVIITPOCHOTEVLTIKG KOUUATLO TOL KGOE
LOVGLKOV 0pYAvVoL. B0 £YETE K1 EGELG TNV EVKALPLA VO KAVETE TO 1810.

Av B€AeTe UTOPELTE VO EMCKENTELTE TO KOTAGTNLO, TOV LOVGELOV TO 0010 SLOOETEL
o TAovota cAAoYn ard BipAlo kol dickoug.



Question 9

Mrnoumndg:
T'eopylo:

Mrnoumndg:

l'eopyla:
Mrnaoumrdg:

I'eopyla:

Mrnoundg:

l'eopyla:

Mrnoumndg:

I'eopyla:

T opa etvor avt l'ewpylo;
A®SEKQ, UTOUTE, YLOTL;

‘Oy kot yrott! I[Motépog cov elpat kot £xm dikoilopo vo EEP® Tov TG
KoL Tt Kdvelg!

[TdAt to 1810 “Ace e topa, eipot kKovpoouévn. Ide yra vvo!
Aev €xelg va mag movbeva! OUte va wAncovue ma dev umopovpe!

Ecv 8 6€lelc va tuAnocovpe. OEAels va pov melg nog vo (nowe m fon
wov. Iote Ba katoAdfelg 6Tt elpon 18 ypovov Kol UTop® Vo Talpvm
KOl OLKEG OV ATOOACELS;

‘Oco {eilg 010 onitt 0vTo 0’ akovs kal peva! Owkoyévera eipoote!

Not, pround, cvpdoveo. AAAG avoaykalopat vo Byoive €€ yiatt de
déxeocal 10 Pounept 610 onitl. Z€peilg 1060 TOAD TOV 0 yomo!

Avnouyo yro céva! Ae vouilm 6t o Pourept eival katdAiniog. [pota
o’ OAa €lvol TOAV Lo UEYOAOG amd oEva. AgvTtepoV, de W OpECEL M
ocvunepltdpopd tov. Kot tpitov, 6o yupilel pe avtn ™ LOTOGULKAETO.
Kdabe dopd mov €pyetar vo og mdpetl ywouoote pelidl ot yeLtovid)!
"Ace mOV €YEL LOKPLA LOAALD KOL GKOVAOPLKL!

Ae pe vordletr 11 Aéetl o xdouog! Eym E€pw méco Kaddg kol €Evmvog
elvol. Agov E&€pelg 0tL o Poumept omouvddaler opyaioroyio oTo
TOVETLOTAULO KOl TOL XPOVOL €lvol KOAEGUEVOS Vo TOEL Y10,
ovaokodes oty Kpntn. Zkédtopat vo mdo Kt €yod poll tov. AAAA EEpo
ToLo €lval 10 TPOPANUA cov pe 1o Poumept. Aev 6" apécetl yroti dev
elvar ‘EAAnvog! Zépeilg xdatt umoumd, pov ¢olvetor mwg €loal
patelotng!
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Section II — Reading and Responding

Part A - 25 marks
Attempt Questions 10-11

Read the texts on pages 10—11 of the question paper, then answer the corresponding questions

in ENGLISH in the spaces provided.

Question 10 (9 marks)
(a) Which statement is correct?

(A) Zoe is a trainee firefighter.
(B) Zoe saved the life of her neighbour.
(C) Zoe’s parents have died.

NN

(D) Zoe had an asthma attack and was taken to the hospital.

(b) Why is Zoe making her diary entry at this school?

(c) What does this entry show about Zoe’s personality?

Question 10 continues on page 3

Marks



Marks
Question 10 (continued)

(d) How is an atmosphere of panic conveyed through Zoe’s diary entry? 4
Support your answer with reference to the text.

End of Question 10



Marks
Question 11 (16 marks)

(a)  Who is the writer? 1

(A) A first generation Greek
(B) A South American delegate

(C) A soccer player representing his country

NN

(D) A person with a social conscience

(b)  Who specifically attended the conference and for what purpose? 3

(c) What evidence is there that strong bonds developed between the young people 3
attending the conference?

Question 11 continues on page 5



Marks
Question 11 (continued)

(d) What warning signs indicated that trouble would erupt? 4

(¢) Why did the ‘oyavaktiouévog didabrog’ write this letter? 5

End of Question 11
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